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Q.28) Consider the following statements: 

1. An approaching cyclone pulls water away 

from the shoreline. 

2. The eye of the cyclone system lifts water 

surface in the centre.  

3. India’s east coast is more vulnerable to 

cyclones than the west coast.  

Which of the statements given above is/are 

correct? 

a) 1 and 2 only  

b) 1 and 3 only 

c) 2 and 3 only  

d) 1, 2 and 3  

 

Q.29) Which of the following are examples of 

adaptations found in the animals? 

1. Long curved and sharp claws in Polar bears 

2. Large ears of Elephants 

3. Huddling behaviour of Penguins 

4. Long beak of Toucan bird in rainforests 

Select the correct answer using the code given 

below. 

a) 1 and 2 only 

b) 1, 2 and 4 only 

c) 3 and 4 only 

d) 1, 2, 3 and 4 

 

Q.30) Consider the following statements with 

regard to Government Instant Messaging System 

(GIMS):  

1. It is designed and developed by National 

Informatics Centre.  

2. It is considered safer than the other private 

popular messaging platforms.  

Which of the statements given above is/are 

correct?  

a) 1 only 

b) 2 only 

c) Both 1 and 2 

d) Neither 1 nor 2 

 

Q.31) Which of the following organizations was 

the outcome of the ‘Rome Statute’? 

a) International Monetary Fund 

b) International Court of Justice 

c) International Labour Organization 

d) International Criminal Court 

 

Q.32) Kerch Strait, sometimes seen in the news is 

situated between 

a) Black Sea and Aegean Sea  

b) Black Sea and Sea of Azov  

c) Mediterranean Sea and Aegean Sea 

d) Adriatic Sea and Ionian Sea  

 

Q.33) Consider the following pairs: 

Place mentioned in the 

news 

Country 

1. Beirut- Iraq 

2. Al Duqm Port- Oman 

3. Idlib- Syria 

4. Marawah Island- United Arab Emirates  

Which of the pairs given above are correctly 

matched? 

a) 1, 2 and 4 only   

b) 1, 2 and 3 only   

c) 2, 3 and 4 only 

d) 1, 2, 3 and 4   
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